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A few boys are sitting in a row. Prateek Is sitting
fifteenth from the left and Rahul is the tenth boy from
the right. If there are five boys between Prateek and
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5) None of these
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There are 62 boys standing in a row. Rohan is 13th from
the left and Shekhar is 16th from the right. If they
mterchange their p05|t|ons What will be the new
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1) 46
2 47
3) 48
4) 45

5) None of these
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If in a row, Shonali is 22nd from the left end and Arjun is
17th from the right end, and there are 7 persons in
between Shonall and ArJun then find the maximum
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5) None of these
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Pankaj is 14th from the top while Piyush is 12th from

the bottom in the class ranking. If they interchange
their positions, then Piyush becomes 22nd from the

bottom. What will be the position of Pankaj from the
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Ramesh is 15th from either end of a
row of boys. The number of boys In
the row is?

SR,
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Kapil Is a student of 12th class. In
his class, his position is 14th from
the top and 48th from the bottom.
What is the total number of the

t dents_In the class?
T 1 PTOTLE | fr
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2) 64
J) 61
4 G2
5) None of these
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If the position of Rohit from the left side of a row Is 10th
and position of Rahul from the right side of a row Is 16th
and there are 6 persons in between them in a row. Find

the total n er.of peo Ie%nh row? ,
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1) 31
23X
3 18
4 17
5) None of these
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In arow of 42 men, iIf Rahul is shifted by 10 places
towards the left, he became 30th from the left end. What

arljer position fr right end of the row?
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Sam ranks 17th from the top in a
class of 60 students. What is his
rank from the bottom?
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1) 45
2 4
J 43
4 4
5) None of these
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In a row of 16 boys, when Girish was shifted by two
places to the left, he became 7th from the left end. What
was his earlier position from the right’P
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5) None of these
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Raju studies in 7th standard. In a test he got 15th
rank from the last. And there were 20 people
between raju and his friend Ravi whose ranks were
In between that of Ravi and Raju. If Ravi’s rank was
45 In the class from front, then maximum number of
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1) 56
38
66
80
) None of these

i 68 G IO sk I B e R T -




SBI CLERK 2023 (3fTEIR &< )

In a row, A 1s 19th from front. B Is
18th from back. C is standing
between two of them, then what
could be the mlnlmum number of
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Student are sitting in a row In
which the position of X is 17th from
the left and that of Y is 14th from
the right. If they interchange their
positions, X’s position becomes
/th from the left. How many
students are. r% %
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In a row of students Ram Is 8th from the left and Madhu
Is 7th from the right. If there are 10 boys between them
then find the total number of students of that row?

R AR

1) 24
)5
30
4 26
5) None of these
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In a row of persons, position of Goku is 22nd from left
end of the row and position of Rahat is 39th from the
right end of the row. Find the total numbers of persons
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1) 75
3
3Cannot be determined / ﬁﬂfﬁﬁﬂﬁmmmé

5) None of these
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Amongst five friends, each got a different
percentage of marks in the examination. Anika
scored more than Alka but less than Anjali. Anjali
scored 70% marks. Anamika scored less marks
than only Anshika. The one who scored the
minimum marks scored 65% marks and the one

who _.SC [S% th hl%%ghsc red 87% marks.
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Amongst five friends, each got a different
percentage of marks in the examination. Anika
scored more than Alka but less than Anjali. Anjall
scored 70% marks. Anamika scored less marks
than only Anshika. The one who scored the
minimum marks scored 65% marks and the one
who scored the highest, scored 87% marks.

Who scored the second lowest marks?

a) Alka

b) Anshika
c) Anamika
d) Anjali

e) Anika
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Amongst five friends, each got a different percentage
of marks In the examination. Anika scored more than
Alka but less than Anjali. Anjali scored 70% marks.
Anamika scored less marks than only Anshika. The one
who scored the minimum marks scored 65% marks
and the one who scored the highest, scored 87%
marks.

Who Is the most likely to have scored 82% marks?

a) Alka

b) Anika

c) Anamika

d) Anshika

e) Either Anshika or Alka
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(i). Seven students P, Q, R, S, T, U and V take a series

of tests.
I1). No two students get similar marks.
|||; V always scores more than P.
P always scores more than Q.
v). Each time either R scores the highest and T gets
the least, or alternatively S scores the highest and U

or O scores the least
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1). Seven students P, Q, R, S, T, U and V take a series of
tests.

(i1). No two students get similar marks.

(111). V always scores more than P.

(Iv). P always scores more than Q.

(v). Each time either R scores the highest and T gets the
least, or alternatively S scores the highest and U or Q
scores the |least

If)S IS ranked second, which of the following can be true ?
a) B

b) A

c) E

d) D

e) None Of these
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(1). Seven students P, Q, R, S, T, U and V take a series of

tests.

(i1). No two students get similar marks.

(111). V always scores more than P.

(Iv). P always scores more than Q.

(v). Each time either R scores the highest and T gets the
least, or alternatively S scores the highest and U or Q
scores the |least

If V Is ranked fifth, which of the following must be true?
a) R Is ranked second.

b) S scores the highest.

c) Qis ranked fourth.

d) T Is ranked third.

e) None of these
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(1). Seven students P, Q, R, S, T, U and V take a series of

tests.

(11). No two students get similar marks.

(111). V always scores more than P.

(Iv). P always scores more than Q.

(v). Each time either R scores the highest and T gets the
least, or alternatively S scores the highest and U or Q
scores the |least

If R gets most, V should be ranked not lower than :

a) third

b) second

c) fifth

d) Fourth

e) None of these
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Seven persons: A, B, C, D, E, F, and G purchased some items
one after another i.e., eraser pen, TV, printer, mouse, mug, and
phone but not necessary in the same order. A purchased a
mouse and there is a gap of 2 persons between A and E. E didn't
come first or at last. As many persons came after A are the same
as the number of persons who came before F who purchased
the pen. C purchased an eraser immediately before A. There is a
gap of 4 persons between E and G who urchased a printer. D
]]a_urchased a phone immediately before who purchased a TV.
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Seven persons: A, B, C, D, E, F, and G purchased some items
one after another I.e., eraser, pen, TV, printer, mouse, mug, and
phone but not necessary in the same order. A purchased a
mouse and there is a gap of 2 persons between A and E. E didn't
come first or at last. As many persons came after A are the same
as the number of persons who came before F who purchased
the pen. C purchased an eraser immediately before A. There is a
gap of 4 persons between E and G who Eurchased a printer. D
ﬁ)_urchase_d a phone immediately before E who purchased a TV.
he mug Is purchased by B.
Who purchased the pen*
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=

Seven persons: A, B, C, D, E, F, and G purchased some items one
after another i.e., eraser, pen, TV, printer, mouse, mug, and phone
but not necessary in the same order. A purchased a mouse and
there is a gap of 2 persons between A and E. E didn't come first or
at last. As many persons came after A are the same as the number
of persons who came before F who purchased the pen. C
purchased an eraser immediately before A. There is a gap of 4
persons between E and G who purchased a printer. D purchased a
phone immediately before E who purchased a TV. The mug Is
purchased by B.

There is a gap of how many persons between F and G?

DOOTD
OINWEF B~




SBI CLERK 2023 (3MTHYR o )

Seven persons: A, B, C, D, E, F and G purchased some items
one after another i.e., eraser, pen, TV, printer, mouse, mug, and
phone but not necessary in the same order. A purchased a
mouse and there is a gap of 2 persons between A and E. E didn't
come first or at last. As many persons came after A are the
same as the number of persons who came before F who
purchased the pen. C purchased an eraser immediately before
A. There is a gap of 4 persons between E and G who purchased
a printer. D purchased a phone immediately before E who
Wr_cha_sed a TV. The mug iIs purchased by B.

hich item has been purchased just before mug?

Printer
Mouse
Phone
TV

Eraser
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